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Chapter 8 
Chapter Test B

Multiple Choice

1.
C
2.
A
3.
B
4.
C
5.
C
6.
D
7.
A
8.
D
9.
C
10.
A
11.
B
12.
A
13.
B
14.
B
15.
C
Modified True/False

16.
T
17.
T
18.
T
19.
F, enormous
20.
F, larger
Completion

21.
infant mortality.
22.
demography
23.
fertility rate
24.
developing
25.
Quality of life
Short Answer

26
The invention of large machines allowed people to grow food in mass quantities, pesticides were developed to protect crops, and fertilizers were invented to help food grow more abundantly.
27.
size, density, and distribution
28.
They give demographers a “picture” of what the entire human population looks like at a particular moment in time.
29.
Males are slightly more likely to die during any given year, so having more male children in a population tends to ensure that the sex ratio is about equal when they reach reproductive age.
30.
It caused ever-increasing resource consumption and pollution, which has a negative effect on the environment.
Other

31.
Country B has a greater population growth rate because its graph has a pyramid shape with more young people than old people.
32.
Country A’s population growth is relatively low because it has fewer young people (pre-reproductive age) than older people (reproductive age).
33.
No, it has not. The pyramid shape indicates a high birthrate and a high death rate, which are indicative of the pre-industrial stage.
34.
Sample: U.S.A.
35.
Sample: It would look more like Country B’s, because India's population is also undergoing rapid growth.
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